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� ��?��� lDm ?�&� ���&������� �&���j-�. 6���/� ��62�1�������� +�����22�8
������. lB# F# =m � �&�/�� �6��2�� TW 8��.6����0 +���2�����A

k → max, (1)

π {f0(x, γ) = k} � α0, (2){
π{fi(x, γ) = 0} � αi, i = 1, . . . ,m,
x ∈ X.

(3)

� L��� 6���/� f0(x, γ) =
∑n

j=1 a0j(γ)xj , fi(x, γ) =
∑n

j=1 aij(γ)xj − bi(γ), i =
1, . . . ,m. ����+�&������.# /�� a0j(γ)# aij(γ) � bi(γ) � �6��2�� TW 8��.6����� lEm
��/����� ��&�/��� (L,R)8��+� l<mA

a0j(γ) = (a′0j , a
′′
0j , η0j , β0j)LR, aij(γ) = (a′ij , a

′′
ij , ηij , βij)LR,
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bi(γ) = (b′i, b
′′
i , ηi, βi)LR, x ∈ E

n
+.

J�� 6���/� �6������ ��� 6���/� ���������# �&� 2����2������ ��62�1�������
�+��2�6�$�� lF# =m 
&. �&�/�. 2�����.6����0 +���2����� ��� �������/�� +�&��
���&������� � ��?���0 lF# =# Cm 


&. �&�/�. �6��2�� TW 8��.6����0 +���2����� � ������/��0 7���$�� +���8
����&���. 7��2�# 2���&���j-�0 ���+����&���. ��/����0 +���2�����# � lDm ?�&
+������� L�����&������ �����2����������� ���&�� !<"8!@" !+�� ��&���� ��-�8
��������. �?�����0 7���$�� +�������&���. 7��2 L−1 � R−1"A

k → max, (4)⎧⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎩

n∑
j=1

a′0jxj − max
j=1,...,n

{xjη0j}L−1(α0) � k,

n∑
j=1

a′′0jxj + max
j=1,...,n

{xjβ0j}R−1(α0) � k,

(5)

⎧⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎩

n∑
j=1

a′ijxj − max
j=1,...,n

{xjηij}L−1(αi) � b′′i + βiR
−1(αi), i = 1, . . . ,m,

n∑
j=1

a′′ijxj + max
j=1,...,n

{xjβij}R−1(αi) � b′i − ηiL
−1(αi), i = 1, . . . ,m,

x ∈ X,

(6)

��� !B"8!E" ���( L�����&������ �����2����������� ���&�� 2���&� �������.# � !F"
� L�����&������ �����2����������� ���&�� 2���&� ������/���� 

	+�����2 �����2����������� ���&�� 2���&� �������. !B"8!E" �?�6��/�2A

f ′(x) =
n∑

j=1

a′0jxj − max
j=1,...,n

{xjη0j}L−1(α0),

f ′′(x) =
n∑

j=1

a′′0jxj + max
j=1,...,n

{xjβ0j}R−1(α0).

����� 2���&( !B"8!E" 2�1�� +���+����( � ����A

k → max,
f ′(x) � k � f ′′(x). (7)

)���&( !=" 2�1�� ������ � L�����&������ 2���&�# �� �����1�-�� ��+�&��8
��&(��� !���������" +���2�����A

f ′′(x) → max
f ′′(x) − f ′(x) � 0.

� ��6�&(���� 6���/� !B"8!F" +���+��������. � ����A

f ′′(x) → max, (8)
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f ′′(x) − f ′(x) � 0,
n∑

j=1

a′ijxj − max
j=1,...,n

{xjηij}L−1(αi) � b′′i + βiR
−1(αi), i = 1, . . . ,m,

n∑
j=1

a′′ijxj + max
j=1,...,n

{xjβij}R−1(αi) � b′i − ηiL
−1(αi), i = 1, . . . ,m,

x ∈ X.

(9)

��� ?�&� +���6��� � lDm# 6���/� !C"8!I" .�&.���. � �?-�2 �&�/�� 6���/�� 2��8
��L�����2�&(��� � ����+��&�� ����� L���� �&. ��9���. L�����&������� �����8
2������������ ���&��� $�&����?��6��2 .�&.���. +��2������ ������/������ �&��8
���2� �+��2�6�$�� 

5� �6�E%F%="E%; &�$�!%(� =�&� "�&��%!9" �6!%9%D"E%% 4�; ��G�$%;
D"4"(%

�?-�j �0�2� ������/������ �&�����2� 2�1�� +���������( �&���j-�2 �?��8
6�2 l@mA

< 
��$��&�6�$�. +���2����� �&�����2�# � /�������� 898:;<=# ># Pc � Pm# ���A

• 898:;<= � ��&�/����� 0��2���2 � ��1��� +�+�&.$���

• > � ���������# �&�.j-�. �� �&�����2 ��?��� 0��2���2�

• Pc � ����.�����( ���������� !+��2���� Pc × popsize 0��2���2 �����
����� 0��2���2�"�

• Pm � ����.�����( 2���$�� !+��2���� Pm × popsize 0��2���2 2�����8
j�" 

D 
��$��&�6�$�. ��0����� +�+�&.$�� popsize 0��2���2�2� 

@ )���7���$�. ����-��� ��?��� 0��2���2 +�� +�2�-� �+���$�� ����������
� 2���$�� 

B ��/��&���� ��������&(��� 7���$�� �&. ��1��� 0��2���2� 

E ��/��&���� 6��/���. 7���$�� +���������� �&. ��1��� 0��2���2� � ��8
+�&(6������2 ��������&(��� 7���$�� 

F ��?�� 0��2���2 +�� +�2�-� �&�����2� ��&���� � 7��2�������� ����� +�8
+�&.$�� 

= ���������� 9���� @nF ���?0���2�� ��&�/����� ��6 

C ����� &�/9�� 0��2���2� � ��/����� �+��2�&(���� ��9���. 6���/� 
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��� ��� ���&�/9�. 0��2���2� i8��� +�+�&.$�� ���?.6���&(�� +������� � (i+
1)8�j +�+�&.$�j# �� 2� ?���2 0�����( 6��/���� ���&�/9�� 0��2���2�# +�&�8
/����� �� +������-�0 L��+�0 ��?��� �&�����2� ��&� � ��&(���9�2 2� �����2
?�&�� 0���9�j 0��2���2�# �� 2� 6�+�2��2 �� �2���� +��1��� 

����2����2 ?�&�� +����?�� ��� 9��� �&�����2� 

.�/ ?��������

��� +�2�-� 0��2���2 � ������/����0 �&�����2�0 ������j��. ��9���. +�����8
&����� 6���/� �+��2�6�$�� ���&���� l@m 2�1�� ��+�&(6����( ��� 2���2�2 ���
�+���?� +�������&���. 0��2���2 � ����/��� � ��-��������� � +����2 �&�/��
��� ��2+������ ������� ���6������0 x = (x1, x2, . . . , xn) +������.��. � ����/���
��� � �����������j��. ���� � �����2 ���&� /��� ��� �+���$�� ���������� � 2�8
��$�� +���6���.��. ��� +��&�������&(����.2� ��&�� � �����$ �� �����2 �&�/��
������/����� �&������2 ��?����� ��+������������ � ��2�2 �������2 x ?�6 ���
����������. � ������ ��� �?� 2����� �2�j� ���� +���2�-����� � ���������� 

)� ��������2�. �� �����2 �+���?�# �&. ���� /��?� �� ��&�1�.�( �&�����2
�+���$�.2� ����������. � ������������. ����/��0 ����� � �2��( ���&.�����(
������/������ +��$����# ������. � �?-�2 �&�/�� �����������# ��&� 0��2���2� ��8
����j��. ����/��2� ������2� 

.�. ���5����
�5�
 ���������� ���������

����2���� +�6��&.j� �+���&.�( +��$����2 ��?��� ������/������ �&�����2�
� �� �0 ��?��� 6������ � �?-�2 �&�/�� L77���������( ��� ��?��� 
2�. +��8
���22��j ���&�6�$�j �&�����2�# 2� 2�1�2 L��+���2����&(�� +���?���( 6��8
/���. +���2�����# +�� ������0 +�����&����. 6���/� ?���� ��9��(�. ���?�&��
L77������� �������/�&(��� 1� ��?�� 6��/���� +���2����� �����������. &�?�
�� �$����0 L��+�����# 6��j-�0 +���2����j �?&���( ��9��2�� 6���/�# &�?� L��
+���2���� ��?���j��. ������ 

���� �6 ���?�&�� ��1��0 +���2����� � ��62�� +�+�&.$�� ��� �&�9��2 2�8
&��(��2 ��62��� +�+�&.$�� 9�� �&�����2� ?���� ��+�&�.�(�. ?�����# ������
�?-�. �0���2���( �&�����2� � �+��2�&(��2� ��9���j ?���� 2��&�����# � ��2�
1� +���9����. ���� 6���������. � �?&���� &���&(���� �+��2�2� ��� �&�9��2
?�&(9�� +�+�&.$�� ��+�&����� ������ 9��� �&�����2� +� +��������j ����� +�8
+�&.$�� ?���� 6���2��( 6��/���&(��� ���2.# 0��. ���+�6�� ��?��� ������ �&��8
���2� �/��( 9���� � ����.�����( ��0�1����. �&�?�&(���� L�����2�2� 6� 2��(9��
/��&� �����$�� �&�����2� ��9�# /�2 � +����2 �&�/�� �� �686� ����# /�� ��18
��. �����$�. ��+�&�.���. ��&��# � ��2 �&�����2 ��� � � +����2 �&�/�� ?����
��?����( ��&�� 

.�@ ���5����
�5�
 ��"����) ���$�
5��

���$��� ���$��&�6�$�� ��0����� +�+�&.$�� 6��&j/����. � +��������� ���2
popsize 0��2���2�2 � �?-�2 �&�/�� +���6��&(��0 6��/����# ������� ��2 �� 2����
��0��.��. � �?&���� ��+����2�0 ��9���� +�����&����� 6���/� 
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.�A ���������� �����5�� ����������


&. ��+�&����. �+���$�� ���������� 2� ��?����2 Pc ×popsize 0��2���2 �&�8
/����2 �?��6�2 ,���2 ��&��( L�� �&���j-�2 �?��6�2 
&. ���0 i = 1 . . . popsize
?���2 �&�/����2 �?��6�2 �����������( /��&� r ∈ [0, 1] ��� L��2 S ��&1�� �2��(
�����2����� ���+����&���� �� �����2 ����6�� ��&� r < Pc# �� i8��. 0��2���2�
��?������. �&. �+���$�� ���������� 

� ��6�&(���� 2� +�&�/�2 ��?�� �6 +��2���� Pc×popsize 0��2���2 � V1, V2, V3,
. . . , Vc, c ≈ Pc × popsize � �+���$�� ���������� ��&1�� �/��������( +��� 0��8
2���2# +�L��2� ��&� � +�&�/����2 ��?��� ��/����� �0 ��&�/�����# �� ���� 2�1��
��?�����( :��2����2 �&�/����2 �?��6�2 +��� 0��2���2 (V ′

1 , V
′
2), (V ′

3 , V
′
4), . . . 

����2����2 +��� (V ′
1 , V

′
2) ����������2 �&�/����� /��&� c ∈ (0, 1) ���&� L����

��+�&��2 �+���$�j ���������� �&. (V ′
1 , V

′
2)A

X = c× V ′
1 + (1 − c) × V ′

2 Y = (1 − c) × V ′
1 + c× V ′

2 .

X � Y � +���2�� ���0 ��0����0 0��2���2 ��&� ?� �?&���( ��+����2�0 ��8
9���� ?�&� ��+��&��# �� �����. �+���$�. ���������� �����������&� ?� ��2# /��
X � Y ��1� +�����&�1�� �?&���� ��+����2�0 ��9���� ������ � ��9�2 �&�/��
L�� �� ���# +�L��2� +��&� +�&�/���. X � Y ���?0���2� +�������(# �� ��9&� &�
��� 6� +����&� �?&���� ��&� ���� �6 ����0 0��2���2 ��9&� �6 �?&����# �� 2�
��0���.�2 �����j � ��+�&�.�2 �+���$�j ���������� �-� ��6 ��� +�����.�2 ��
��0 +��# +��� &�?� �� +�&�/�2 ��� ��+����2�0 ��6��0 0��2���2�# &�?� +��� ��
+������2 ��+����2�� /��&� �����$�� k���2 ��0����� 0��2���2� V ′

1 � V ′
2 6�2�8

�.j��. ����2� X � Y !��&� ������� ���(" 

.�B ���������� �����5�� �$��������


��?����2 Pm × popsize 0��2���2# ������� ?���� +��������(�. �+���$�� 2�8
��������.# �&�/����2 �?��6�2 ,���2 ��&��( L�� ��� 1�# ��� � � + D B 
&. ���0
i = 1 . . . popsize �&�/����2 �?��6�2 ���������2 /��&� r ∈ [0, 1] ��&� r < Pm# ��
i8��. 0��2���2� ��?������. �&. �+���$�� 2���������. 

k���2 �&. ��1��� ���?������ 0��2���2� V ′′
i ��+�&�.�2 �+���$�j 2�����8

����. �&���j-�2 �?��6�2 �&�/����2 �?��6�2 ��?����2 �������/�� ?�&(9��
/��&� M !���+�6�� L���� /��&� �+����&.���. ���1� � +����� < �&�����2�" k���2
���1� �&�/����2 �?��6�2 ���������2 ������ ��+���&���. d ∈ R

n :��2����2
2����������j 0��2���2� +� 7��2�&�A

Z = V ′′
i +M × d.

��&� Z ��9&� 6� �?&���( ��+����2�0 ��9���� 6���/�# �� ��?����2 �&�/����2
�?��6�2 /��&� M ′ ∈ (0,M) � +�����.�2 �+���$�j ����� ��� ��&��2 �� ��0 +��#
+��� &�?� �� +�&�/�2 ����j ��+����2�j 0��2���2�# &�?� +��� �� +������2 6����8
��� /��&� �����$�� �+���$�� 2���������. k���2 6�2��.�2 ��0����j 0��2���2�
V ′′

i +�&�/����� 
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.�C ���������	��
 4$��5�
 � 4$��5�
 �����������

� ��9�2 �&�/�� ��������&(��� 7���$��� .�&.���. �+��2�6����2�. 7���$�.
��9��2�� 6���/� 

:���$�. +���������� +�6��&.�� +�����1������( 0��2���2� +�+�&.$��# +��8
����� �2 6��/���� ����.������ ��1�����. ����2 �?��6�2# /��?� ?�&�� +��0��.8
-�.. +� ��������j � +��/�2� 0��2���2� �2�&� ?�&(9�j ����.�����( +������ �
�&���j-�j +�+�&.$�j ���� �6 �+���?�� +��������. ������ 7���$�� 6��&j/�8
���. � �&���j-�2 

	+��.��/�2 ��� 0��2���2� ����-�� +�+�&.$�� +� �?�����j �0 �+��0��.-�8
���� !�&. ��9�� 6���/� 2����2�6�$�� � +� �?�����j 6��/���. ��������&(���
7���$��" k���2 ��?���2 �&�/����2 �?��6�2 +���2��� a ∈ (0, 1) � 6�+�9�2 7��8
2�&� +����������A

eval(Vi) = a× (1 − a)i−1, i = 1, . . . , popsize.

��� ����� �6 L��� 7���$��# ���&(��� 6��/���. ��������&(��� 7���$�� 6���(
�� ��1��# ��1�� ��&(�� +��.��� 0��2���2 
�&�� L�� 7���$�. ��+�&(6����. �
�&�����2� ��?��� 0��2���2 

.�D �������� ��7��� "�������

���$��� ��?��� 0��2���2 �� 6������ �� ��?��� 7���$�� +���������� � ����8
�������. �� ��� ��6����2�2 �&�����2� ��&����# ������� ���&.��� 2�1�� +���8
������( �&���j-�2 �?��6�2 ����( � ��� ���( ����&�� ����# ������� 2�1�� ���8
-��(�. ������ ��?�������� ���# � ����&��# ���6���j-�. �� ��� $���� ��6�?(�2
��j +&�-��( ����� �� popsize �������� � � ��1��� ������ +�&�1�2 +� ����� 0��8
2���2� �6 �2�j-���. �� ������ 2�2��� +�+�&.$�� ��� L��2 +&�-��( �������
� i8��� 0��2���2�� ?���� ������&.�(

eval(Vi)∑popsize
j=1 eval(Vj)

��&j �� �?-�� +&�-��� ����� 
������/����2 ��&����# � ����� ��� �������&������.# ��?����2 0��2���2�# ��8

0��.-�j�. � ��2 �������# �� ������� ���6����� ����&�� 
�&��2 ��+�j L���
0��2���2�# +�2�-��2 L�� ��+�j � ��6�&(����j-�� 2��1�����# � ��0����j 0��8
2���2� ��6���-��2 �� +��1��� 2���� �� ��&���� J�� �+���$�j 2� +����&����2
popsize ��6 

:��2�&(�� L��� �&�����2 2�1�� �+����( ���A

• ��/��&��( ��2�&.�����j �����.�����(� ��?��� qi �&. ��1��� 0��2���2�
ViA ⎧⎪⎨

⎪⎩
q0 = 0,

qi =
i∑

j=1

eval(Vj), i = 1, . . . , popsize
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• ��������( �&���j-�� ��� 9��� popsize ��6 � +�&�/��( popsize ��+�� 0��8
2���2A

H ������������( /��&� r ∈ (0, qpopsize] 

H ��?���( Vi 0��2���2�# ��� i �+����&.���. +� +����&� qi−1 < r � qi 

�&����� 6�2����(# /�� � ��6�&(���� ��?��� 2� +�&�/�2 +�+�&.$�j# � ������� �.�
0��2���2 ?���� ��?&������(�. ��� L��2# /�2 ?�&�� +�������� ?�&� 0��2���2�
� ��0����� +�+�&.$��# ��2 ?�&(9� ��?&������ � ��� ?���� � ����� +�+�&.$�� 

7� ��4��<$)? 6�%9��


��&����2 �� 2���&(��2 +��2��� +�������� 6���/� ��62�1������� �+��2�6�8
$�� � 6�����2���� �� t8���2�# �+�����j-�� �6��2��������� ��/����0 +���2��8
��� 

@�/ E���+� $�������) ������
�5�� � TW 2��

������ �����������

����2����2 6���/� ��������� �+��2�6�$�� !<"8!@" � TW 8��.6����2� +���2��8
��2� +�� n = m = 2 � +���2����0 α0 = 0.5# α1 = 0.3 � α2 = 0.4A

k → max,

π {a01(γ)x1 + a02(γ)x2 = k} � 0.5,⎧⎨
⎩

π {a11(γ)x1 + a12(γ)x2 − b1(γ) = 0} � 0.3,
π {a21(γ)x1 + a22(γ)x2 − b2(γ) = 0} � 0.4,
x ∈ R

2
+.

k���( a01(γ)# a02(γ)# a11(γ)# a12(γ)# a21(γ)# a22(γ)# b1(γ) � b2(γ) � �������&.����
�6��2�� TW 8��.6����� ��/����� ��&�/���A

a01(γ) = Tr(1, 2), a02(γ) = Tr(5, 3), a11(γ) = Tr(8, 3), a12(γ) = Tr(−2, 1),
a21(γ) = Tr(1, 2), a22(γ) = Tr(−5, 4), b1(γ) = Tr(14, 7), b2(γ) = Tr(0, 5).

���������2 L�� ��/����� ��&�/��� � (L,R)87��2� 
&. �������&.���0 ��/��8
��0 ��&�/�� 7���$�� +�������&���. 7��2 ?���� �&���j-�2�A

L(t) = R(t) = max{0, 1 − t}, t ∈ R
1
+.

��&�/��2 ��/����� ��&�/��� (L,R)8��+�A

a01(γ) = (1, 1, 1, 1)LR, a02(γ) =
(

5, 5,
3
2
,
3
2

)
LR

,

a11(γ) =
(

8, 8,
3
2
,
3
2

)
LR

, a12(γ) =
(
−2,−2,

1
2
,
1
2

)
LR

, b1(γ) =
(

14, 14,
7
2
,
7
2

)
LR

,

a21(γ) = (1, 1, 1, 1)LR, a22(γ) = (−5,−5, 2, 2)LR, b2(γ) =
(

0, 0,
5
2
,
5
2

)
LR

.
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�������2 �����2����������� L�����&������ ���&�� 6���/� ���&���� !C"8!I"
�2��2A

x1 + 5x2 +
1
2

max
{
x1,

3
2
x2

}
→ max, (10)

⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

max
{
x1,

3
2
x2

}
� 0,

8x1 − 2x2 − max
{

3
2
x1,

1
2
x2

}
· 0.7 � 16.45,

8x1 − 2x2 + max
{

3
2
x1,

1
2
x2

}
· 0.7 � 11.55,

x1 − 5x2 − max {x1, 2x2} · 0.6 � 1.5,
x1 − 5x2 + max {x1, 2x2} · 0.6 � −1.5,
x ∈ R

2
+.

(11)


��$��&�6����2 ������/����� �&�����2 ��9���. +�&�/����� 6���/� �&���j8
-�2� ���������2�A

< ��62�� +�+�&.$�� popsize = 50#

D ����.�����( 2���$�� Pm = 0.2#

@ ����.�����( ���������� Pc = 0.8#

B ���������# �/�����j-�. � �&�����2� ��?��� 0��2���2# a = 0.05.

��?��� ������/������ �&�����2� +�������&��� �� ��� < ��� ����� �6 ��� <#
������/����� �&�����2 �1� �� C>8� �����$�� �������. � �+��2�2� � ��/����(j
�� ����(��� 6���� +��&� 6�+.��� �� ��� ������� �� +���������2 ������� ���6���
6��/���. ���&�/9�� 0��2���2� � ��/����(j �� ����(��� 6���� +��&� 6�+.��� ��
��� �?�$��� � ��&�/����� �����$�� ������/������ �&�����2� 

���� �� �	���	 ������ ������ 	������!	�
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��9���� 6���/�# +�&�/����� ������/����2 �&�����2�2# �&���j-��A

x1 ≈ 2.70206, x2 ≈ 1.16466, FW (x1, x2) ≈ 9.87638.

�� ��� D �6�?��1��� �?&���( ��+����2�0 ��9����# 6������2�. ������/���.8
2� ��&��� ������/���� !�" 6������. �����2 � ����(�2 �����������2� �����2�
!<<"# +�&��� ������/���� !," � /�������2 � +.��2 �����������2 �����2� !<<" 
������ ����������� 6����� �?&���(# +������j-�j $�&���2 +�����/���� +����0
���0 �?&�����# +�L��2� �� ������� ����������� 

������/���� �����0 �?&����� �+����&.�� �� �?&���(# � ������� ��?����� ����8
��/����� �&�����2 ��������2 ��2�/��� ��/��# ������&.j-�. 2����2�2 $�&����
7���$�� 

���� �� "��	��# 
������!$% ��&���' (�
�
	�������� 
����!�����
	����� 	�	���	 )	*

	 � +�,*+-, 
�. ��� 	. 
)	�!�� TW *�
.)	��$% �	�	!����
�

@�. E���+� $�������) ������
�5�� � �
�����2������

������ �����������

����2����2 6���/� � �&�/��# ����� ��� +���2���� .�&.j��. �6��2�� 2�����.8
6����2� �������&.���2� ��/����2� ��&�/���2� �� �����2����������� L���8
��&������ ���&��# ���&���� l=m# ?���� ���&.���( �&���j-�2 �?��6�2A

1.5x1 + 5.75x2 → max,⎧⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎩

6.95x1 − 2.35x2 � 16.45,
9.05x1 − 1.65x2 � 11.55,
0.4x1 − 6.2x2 � 1.5,
1.6x1 − 3.8x2 � −1.5,
x ∈ R

2
+.
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��9���� +�&�/����� 6���/� &�������� +�����22�������.A

x1 ≈ 2.915, x2 ≈ 1.6223, FM (x1, x2) ≈ 13.701.

�� ��� D 2�1�� �����( �?&���� ��+����2�0 ��9���� 2���&(��� 6���/� �
�&�/�� �6��2��82�����.6����0 � �6��2�� TW 8��.6����0 +���2����� 

���� -� "��	��� 
������!$% ��&���' (�
�
	�����$% 
����!�����
	��$% 	�	����
 )	*

	 � +�,*+-, 
�. ��� 	. 
)	�!�� TW *�
.)	��$% � 
)	�!�� !����
.)	��$% �	�	!����
�

��� �����# � �&�/�� �6��2�� TW 8��.6����0 +���2����� �?&���( +�&�/����.
?�&�� ��2+������# � ��9����# ��������������# 2���� ���62���2�# /�2 � �&�/��
�6��2��� 2�����.6������� J�� 2�1�� ����6��( ������ 2���2���/���� 


��������&(��# �?�6��/�2 /���6 Xαi

M 2��1����� ��9���� x# ����&�����.j-�0
i82� ������/���j 2���&� !@"# +�� ��&����# /�� ��� aij(γ) � bi(γ) � 2�����.6�����A

Xαi

M =
{
x : π {fi(x, γ) = 0} � αi

}
, aij(γ) � bi(γ) � 2�����.6�����,

� /���6 Xαi

W � +�� ��&����# /�� ��� aij(γ) � bi(γ) � TW 8��.6�����A

Xαi

W =
{
x : π {fi(x, γ) = 0} � αi

}
, aij(γ) � bi(γ) � TW 8��.6�����.

)�1�� ?��( ����6��� �&���j-�. �����2� 

������� <�
m⋂

i=1

Xαi

W ⊆
m⋂

i=1

Xαi

M .
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����?��j �����2� 2�1�� ����6��( � �&. 2���&� �������. �?�6��/�2 /���6
Fα0

M (x) 2��1����� 6��/���� �������.# ����&�����.j-�0 2���&� !D"# +�� ��&����#
/�� ��� a0j(γ) � �6��2�� 2�����.6�����# � /���6 Fα0

W (x) � 2��1����� 6��/����
�������.# ����&�����.j-�0 2���&� !D"# +�� ��&����# /�� ��� a0j(γ) � �6��2��
TW 8��.6����� 

)�1�� ����6��( ���1� �&���j-�j �����2� 

������� D� Fα0
W (x) ⊆ Fα0

M (x) 

I� �J :K4�$%�


&. +��������. ��������&(���� ���&�6�# ����2����2 �&���j-�j 6���/� &�8
������� +�����22�������.# � ������� ��� +���2���� .�&.j��. /����2�A

x1 + 5x2 → max,⎧⎨
⎩

8x1 − 2x2 − 14 = 0,
x1 − 5x2 = 0,
x ∈ R

2
+.

��9���� ������ 6���/� &�������� +�����22�������. �&���j-��A

x1 ≈ 1.842, x2 ≈ 0.368, FC(x1, x2) ≈ 3.682.

�����2 ��6�&(���� ��9���. ���0 6���/ � ��?&�$�A

+���2���� x1 x2 FT (x1, x2)
/����� < CBD > @FC @ FCD

�6��2�� TW 8��.6����� D =>D>F < <FBFF I C=F@C
�6��2�� 2�����.6����� D I<E < FDD@ <@ =><

��7��5� /

��6�&(���� ��9���. 2���&(��0 +��2����# +�������&����� � ��?&�$� <# +��8
����1��j� �������/����� ��6�&(����# �����1�-���. � +������-�2 ��6��&� 

)�1�� ��������( ��+���6�# /�� �&. &j?�� t8���2� T !TW � T � TM " 6��/����
$�&����� 7���$����&� FT (x) ����&�����.�� �&���j-�2� �����������A

FW (x) � FT (x) � FM (x).

������ ������ +���+�&�1���� ���?��� ��&(���9�0 ���&�������� 

�6% �= �%!��"!:�)

l<m 
 
j?��# � ����# �����. ��62�1������ � ��� � 7���$ ) A ����� � ��.6(#
<II> 

lDm 
 � ��&�������# � 2����� ��9���. ����� 6���/� ��62�1�������� +�����28
2�������. � �&�/�� TW 8��.6����0 +���2�����# �� �?����� ���/��0 ������
Mq8� )�1���������� ���/��8+�����/����� ���7����$�� �
��������������
2���&� � 2.���� ��/��&���. � ������������2 ����&&����� !DC8@I 2�. D>>=� "
��2 <# � D@<8D@C 
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l@m p dXW# uNGQSOUXN RS[fSU^^XNf# �XYQZ UN_ s[NT# |QV }[S~# <III 

lBm s |UP^XUT# �WvvZ qUSXU\YQT# �WvvZ sQOT UN_ sZTOQ^T < !<I=C" I=8<<> 

lEm �UNf �XvPU[# tU bXNfPW# |[OQ [N ^Uh^XN μ/E QTOX^UOX[N# �WvvZ sQOT UN_
sZTOQ^T IB !<IIC" =<8=E 

lFm a q }UvQNXN �WvvZ UN_ sO[GPUTOXG cS[fSU^^XNf# �WvvZ sQOT UN_ sZTOQ^T DD
!<IC=" <=<8<C> 

l=m a q }UvQNXN �N OPQ RS[\YQ^ [] R[TTX\XYXTOXG [ROX^XvUOX[N# �WvvZ sQOT UN_ sZTOQ^T
C< !<IIF" <@@8<B> 

lCm a q }UvQNXN# b �UfQN~NQGPO# c[TTX\XYXTOXG [ROX^XvUOX[N# pSUN_QN\WSfXTGPQ
eQGPNXTGPQ uNXyQSTXOUO# �[OO\WT# �QS^UNZ# <IIF 


